Lecture 6 - Sep. 26
Review on OOP, Exceptions
Static Variables: Common Error

Caller vs. Callee
Error Handling using Console Messages



Announcements
- Labl due at 2pm this Wednesday
- WrittenTest1
- make sure you try logging into eClass in WSC
- A guide and some practice questions released
- Programming Test 1 (60 to 65 min)
- Identical format as Labl
- Number of starter tests will be smaller
- Guide, Practice Test, Mockup Test to be announced




Use of Static Variables: Common Error
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public class Bank {

private string|bragchg§mer
public String get ame () { return this.branchName; }

private static int nextAccountNumber = 0;
public |static |String getInfo {

tACCO umbers+; 2

etury |thiyg/. branchName| + |hextAccountNumber]
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public clqe; Bank {
S —
private ' string branchName;
public String getBrachName () { return this.branchName; }
private static int nextAccountNumber = 0;

public static String getInfo() {
nextAccountNumber++;

return this.branchName + nextAccountNumber;
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public class Bank {
private'string branchName;
public String getBrachName() { return this.branchName;
private s 1L¢ int nextAccountNumber = 0;

publicstatic |String getInfo() |
ngxtAccountNumber++;

eturn thwme + nextAccountNumber;

)




Caller vs. Callee

- caller is the client using the service provided by another method.

- callee is the supplier providing the service to another method.

class s/ LAPAE ,'C M”’y w2 ’)C"”' (Z

vo Hﬂ() {
o = new C2();
18 S St?tlc of o i1s C2 */
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Q: Can a method be a caller and a callee simultaneously?
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Visualizing a Call Chain using_a Stack
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Error Handling via Console Messages: Circles

class Circle {
double radius;
Circle() { /* radius defaylts to 0 %/ } m;
void setpagius (double Ve

if (r < 0) { System.out.println( "Invalid radius." )) } ég
e
else { radius = r; }

) (on 43»47{
double getArea() { return radius * radius * 3.14; }
} 4586

o LAfRAP call stack
class CircleCalculator ({ allE 7, oy
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2 public static void main (String[] args) { (e.g ey MQ‘@#)
3 Circle c = new Circley(); .
4 c.setRadius( 1057 2 YVM{' ervof L»(f wodl ﬂ__‘;_f Stop Wl

a double area = c.getAreal);
G System.out.println("Area: " + area); lg & 4 -4
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Error Handling via Console Messages: Banks

class Account {
int id; double balance;
Account (int id) { this.id = id; /* balance defaults to 0 #*/ }
void deposit (double a) {

if (a < 0) { System.out.println( "Invalid deposit." ); }

else { balance += a; }

}
void withdraw(double a) ({

call stack
el 0
(41

N

if (a < 0 || balance — a < 0) {

System.out.println( "Invalid withdraw." );
else { balance -= a; }
}

}

clasg Bank {-

} Account|[] accounts; int numberOfAccounts;

Bank (int id) ={ ... }
void (withdrawFrom(int id, double a) {
COﬂfGXf Caller callee for(int i = 0; i < numperOfAccounts; 1 ++) { ﬁ)ﬂ
if(accés.w(i i, id) {
(0. accounts[i] withdraw( a
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M class BankApplication {
pubic static void main(String([] args) {

Ja“) Scanner input = néw Scanner (System. in);
( y(cth W{ ‘) Bank b = new Bank(); Account accl = new Account (23);
D/l M ‘ b.addAccount (accl) ;

double a = input.nextDouble();

‘J b.withdrawFrom(23, a);
Q A kr ‘a System.out.println("Transaction Completed.");
(o D -




Practice Written Test 1

iglizes the person’'s name

Assume that a Person class is already defined, and it has an attribute name
from the input string, and an accessor ‘getName" returning the p.
code (inside some main method):

Person p@ = new Person(Suyeon");
Person pl = new Person("Yunal); ./ %;
Person p2 = new Person("Sunhye"); -Ig
Person p3 = new Per‘son("Jihye“);

2P0 = pZ;
pl = p3; 0

=2

/7Per'son[] personsZ2 = new Pefson[personsl.length];
for(int 1 =(@:J 1 <|[personsZ.lengtn; i ,++) {
personsZ[i] = personsl[personsZ.léngth - i-- 1];
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Executing the aboyefzagment of code, after exiting from op, indicatefthe value of each of the fo?owir‘g exp essi&s.

personsZ[O].getNa@() Choose...

L1 2

persons2[1].getName() | Choose... s

persons2[2].getName() | Choose... =

persons2[3].getName() | Choose... 2




